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SECTION-A (1X10=10M)

1. Construct a 2 X 2 matrix, A= [aij] whose elements are given by aij =[image: image2.png]


  .

2. What is the positive value of x  makes the following pair of determinant equal ,

[image: image4.png]|Zx 3



 =[image: image6.png]16 3|




3. Write the adjomt of the matrix [image: image8.png]



4. If f: R—R be defined by f (n) = (3-x3)1/3 then find the value of fof(x).

5. Find a for which f (n) =a(x+sinx) +a increasing.

6. Write the value of [image: image10.png]


sin5x d x.
7. Write the integrating factor of the linear differential equation. (x  log x) [image: image12.png]


  + y = 2 logx.
8. Find a vector in the direction of vector [image: image14.png]


 =[image: image16.png]


-2[image: image18.png]


  that has magnitude 8.

9. If x has a binomial distribution B (4,[image: image20.png]A



) write P(x =1).

10. The probability that an event happens in one trial of an experiment is 0.4 .Three independent trials of the expt. are performed. Find the probability that the event happens at least once. 

SECTION-B (4X12=48M)

11. Solve tan (n-1) + tan-1 x + tan-1 (x+1) = tan-1 (3x).

12. Let A=[image: image22.png]|



 ; B=[image: image24.png]


  and C[image: image26.png]2 5
2

E



   find a matrix D such that CD-AB=0.

13. If y=log tan ([image: image28.png]/s



 , [image: image30.png]x/))



show that  [image: image32.png]


 = sec x.

14. Verify Lagrange’s Mean Value theorem for the fraction f(x) = x + [image: image34.png]ahla



in (1, 3).

15. For what value of k, the following function is constant at x =0.

        f(x) =[image: image36.png]


,    x[image: image38.png]


0

               =   k                      ,    x =0

16. Evaluate    [image: image40.png]


   .

                                                      OR

Evaluate[image: image42.png]


   dx . 

17. Evaluate    [image: image44.png]


 [image: image46.png]


    dx
18. If  [image: image48.png]


  =  [image: image50.png]


  +  [image: image52.png]


 + 2[image: image54.png]


  ,[image: image56.png]


 = 3[image: image58.png]


 + 2[image: image60.png]


 - [image: image62.png]


  find the value of ([image: image64.png]


 + 3[image: image66.png]


  )   (2[image: image68.png]


 - [image: image70.png]


 ).

                                                    OR 

Let   [image: image72.png]


 , [image: image74.png]


  and [image: image76.png]


    are any three vectors show that [image: image78.png]


 = 3 , [image: image80.png]


 = 4 , [image: image82.png]Il



 =5  and each of them being perpendicular  to other two, find [image: image84.png]


.

19. Evaluate [image: image86.png]J;" xtanx

~ Secx cosecx



   dx .

20. Solve the differential  equation 2xy + [image: image88.png]


 - 2[image: image90.png]


 = 0         y(1) = 2

                                                   OR

Solve the differential equation [image: image92.png]


 + [image: image94.png]y sec?



x = tan x . [image: image96.png]


    , y (0) = 1.

21. A bag contains 1 white ball and 6 red balls, and the second bag contains 4 white balls and 3 red balls. One of bags is picked up at random and a ball is randomly drawn from it, and is found to be white in color. Find the probability that the drawn ball was from the first ball.

22. Two dices are thrown simultaneously. Let x denote the number of sixes.  Find the probability distribution of x. Also find the mean and valiance of x, using probability distribution table.

SECTION - C

23. Using matrixes solve the following system of linear equations.

                                               2x –y + z = 3

                                               -x + 2y - z= -4

                                                x - y+ 2z = 1

                                                 (OR)

                           IF A= [image: image98.png]


 , [image: image100.png]


 and hence solve the system of equations.

24. Find the distance of the point (3, 4, 5) from the plane x + y + z = 2 measured parallel to the line               2x = y = z.
25. Find the area cut off by the parabola 4y =[image: image102.png]


 by the straight line 2y = 3x + 12
                                                     (OR)

   Find the area of the region bounded by the ellipse [image: image104.png]


 = 1 and the line x/a + y/b=1 

26. Evaluate[image: image106.png]



27. Solve the following linear programming problem graphically

Minimize   z = x - 7y + 190  

Subject to the constrains

x+y≤8, x≤5, y≤5

x+y≥4, x≥0, y≥0.

29. Find the shortest distance between the lines        [image: image108.png]



And     [image: image110.png]
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